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te/the 7o ways (0 Insert comement insert comments 1010 & G program

e TwoC language keyword =9 \ne
avanable in C programimuiyg

l:hl: advantage of prografl looping
grudsk between the printf and theputs funcumi i C. progmmming

;[.Eﬁﬂ?wplumng step in MATLAB 14{) slg 12 marks)
?ﬁ'ﬁ'ﬁm"mmﬁmﬁ file extension

13, Ware the MATLAB command for evaluar
14. Differennate berween wiho and whos commands assoeiates
15. Wate the MATLAB command [

h between the format shorrean

|2 marks)

fng matnx maverse <nd determmant |2 marks)
! with vapables in MATLA B (2 marks)

12 marks]

it 2D and 3D plot |
d formar rat commands i MATLADB 7 matksi.
= MAths|

16. Distingus

17. State the funcuon
18. Wate the dnspace command and length commund sunta
d eye (3) and eye (3,4) m MAT LAB 12 marks]

19. Whart i the output af the comman
12 marks

20. State TWO aas type i MATLAB

of the command window and workspace window in NLA TLAB
w11 MATLAB [2 marks)
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PEDERAL LT RSILY, oL
DEPARIMENT ©F ML AL WONICS | HGIHLENIMNG
BEng Drpirn Exaimination
First Somester 201 12018 Eu&:!-l'ﬂ“
CODE: MTE 2
R v UNITS: 1 Time: 23 Hours

COURSE VITLE: COMPUTER AIDED EHGING FHING )
ns 3 ports, then answer one question « b

nstruetions: Answer oll questions In Section 1 thit eonial
Jromsection 2. 3 and 4 respecthely.

Serion 1 (compulsory) answer all gu uestions In alt the 3 parts:

Part 1. Computer Aided Engineering Linux (CAElnuX)
1o List nny 3 soitw are upplications eimbedded in CAELINUX 2013 CD ﬂ" w.arks)
1B In 3 sur owil weeds, what o you sndersmnd b, rniie clement analysls ! (2marks)
IL. List 3 key featyie of SALOME MECA (3rui 3)

odels. (2mitks)

1 Lim 2 file frmonts In which yeu cas impon T2 D m

Part 2. Prozramming In C Language
CWhat do you undersiand by

l.  An ndvantsge of high leve! language 5 'Tonuahility”

( hmrei)

‘i'q."r'lTl: i li]'l.q: Drtnde I.] (3 pﬁms "“"EL‘:GT‘-IE -ID IﬂTEI(" Exj*.M" ona l.'CI!'.E-E]It e:
&7 (a) 2PrintCapy() (b) total numbert
v L) secount’ 970 () +gatehiny)

2,

(Imark)
L) TP
3. Which of the following are valid funciion name

() wiul-number() (4) _quick_add(] (¢l primZeus
(1.2mnrks)
4 Ansvier true oo falser In Y=N4—; Y is i osigned the velue oS

by i Ly
List out tle pussible Herativng 1rom the “for’ statemuni: (iarii=

the one wier W is il

\

0,i=4 i~=3, e it

3.
(I wark)
6. Write appropriate comments for each of (hese line of cadus, the first one has been dor
for you: (Simarks)
1L finclude <sdio.h>  /* ploce sidio.h where the diveetive is lotuted™/
2 nuin ¢ ) ! e "a’
= { /= i
. ik w, X, Y, z result; /¢ ‘-'
S, wex=v=z=1; "’ /
7. Consider this “if* statement: if(a > b sed a > c), which of the following options best
explains th stalzment? Chuose onetd | mark)
(@), il 2 g g vater thana and c (1), if & is greater than both band ¢ (c). if bol
and b ape preater thane  (d). 114 is creater than bar ¢ (e} (' is preater than b bul o LE
8 A linher is usod 1 link together se=—-s === and -——- to produce &N eyecutable 0

(1.5 marks)

Scanned by CamScanner



* - - r

Ty ey

Seclion2

dsten f
?’j‘f r'-, Lol

POX -.({'.19/‘.

insiuction; Answer only two question trom this seclion N
| RIS L
Question One )}p;(f-?ij

fa) Using the o starement wnte the source code o evaluate the I

value of 1 Note your program must
autjrut terminal

u Explan every stal
v = functon wnte a piugtanm |

cment you have used m (a) above

' !
(b} 1 g the pu hat prints the fex I

(¢} State the function of the modulus ppetator

Question Two

o tells the ueer

»a" ] (¢ rrath
el cult Icn

I II'II'IIH refpe gufure

1 A

| gpiurnee Wi

(il rerrm
. wtl { mesrape 3t 1he
contain appropmare comment 'f‘i'ﬁ

stk

[ marks)

7 J"Jnﬂ-'”"”“l

ealue from the

the tollowng

(a) Using the geanf funcnon wole a progam thy
: s Lels i) usify
kevhoard m degrees Fahrenheit (F) and convert this value 1 degrees el iy
formula o
(F-3z2)
C - —
1.8
. " LTIk af YR
Note yout Propmim must conra apprenrate Comme feug peadabnlit anu] mernape | i
. - 15 1L :Ir
te rrrutial 5
laair
i Eaplan even sparetnent vou luyve nsed BLE abwwe g
N ek |
(b) Wate the curput uf the following progzin
gilnciuds ¢stdla. hn
ipt mawnlvoid
{ ) N /
ire a= The ELT noods veapday 10Th Julims

\arintri"MTEZD] Evam ' nodnacin
) "|

SplE"G
printr " Vit L//

return J;
)
(€) Wnte the while loop svntax

Question Three

(a) Wote u program thar tells the user o mpul the radius of & sphere 11

volume (V) using the followng formula:

R

V=rxnr
3

Note vour program must contain approprate commern for readabnhiey

rermunal.
L l':-"-'f‘f-'llﬂ every spirement you have used in (1) above

(b) Wnre a program to eviluate the equaton shown here v+ 6irx =255

ic) Waorte the expected output of the followiny program

an the k

(2 marks]

evboard and evaluare the

and message at the output
[5 marks|
[5 muarks]
|3 matke|

|2 marks)

inelude <scato.h 48 P

Y

)
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Question five

(8) Using axis square command, wate the code to plot the function below within nme interval of -2
10 2 with an increment of 0.01

[6 marks).
[=e"
v = cos(t)

The code should include the grid commandand legend command
(b) Given the mamx >> A =[1, 2, 5;

. [+ marks|.
1.

g, @; 5, 9, 4]; Wote the command to abtain
the rank of mamx A and defere the third row of A r:sp-r:c:u-.-r:l}r.

2y

[4 marks|.

Wote the MATLAB code

1o obtain the miumum element of this row vector and as components of a rowvector [| mark].
'

() Consider the row vector (8, 3, 9, 10, 5, 4, 12, 20].

() The table below presents the MTE201 result for two successive session. Wate the MATLADB code 10
present this infonmaton as shown in the fgure

[10) marks].
i No. of Student

MTEZM _Resuli_2017 /2018 Session

48 | 45 | 55 | o0

75 | TU 62 | 40 | 68 | 37

MTE201 _Resule_2018/2019 _Session | 1B | 22 | 34 | 28 | 19

16 34 12 | 42

MTE201 Resul

' -7 -_ — 1 e T _‘-’
& MTE201 Resull 2017/2018 Session |
80 . MTE20' Resull 2018/2018 Session
L
70 VA ! . |
/ | *
ol AR AN
.I’J-F- { | 4 'T
= \ ! I
g 201 / / K
[ 45 ] - i I ~|I
L e |
40 { — i . ¥ / — —4|-
R \ |
30 )‘- /N - . - 1
Fy B ' h !
| " ht ; \ lII |
20 I;‘.:F__‘,.--""“ w |FI _Il"
~ v/ ,
I ]
Tﬂ' t [ - - : I L
0 2 4 & 8 10 12
Mo of Student

(b) Given the base and height of a tmangle to be 8 mm and 3 mm respectively, wnte the MATLAB
code to calculate 1t Area

{4 marks).
©) Wote the MATLAB code to evaluate the square root of 256 and retumns the value for H {1 mark!
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it answer, result;
= 100;

answer
result = answer -10: .
Printft"ThE result is %1\n*®, resullt *°
n 07
retul
L]
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ear system of
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{4 mar ks|

b) Wnte the |
5 n the :m_m‘m-mu.l

(c) Wate the code to passi

2x, + x,—=2x3 % 2X, =
- 3x, F XXy T
S5x, — 3x; ; -
3y, +4x, —3x; T T

— Xy =

- L
! ' LX
3x, —x; t &4
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